3.

4.

'.W]mt is the function of a substation
in o transmission and distribution
system ?

(A) To gencrate electricity
(B) To store excess electricity

(C) To reduce voltage which can
safely be delivercd to customer

(D) To convert electricity into another
form of energy

(E) Not attempted

A circuit that changes a binary code

into a particular set of signals i is
called

{A) Enceder
(C) Decader
(E) Notattempted

(B) Multplexer -
(D) Selector

What is the primary function of an

amplifier in an electronic system ?

(A) Convert AC to DC

(B) Increase the frequency of a signal

(C) Enlarge a weak signal without
distortion

(D) Reduce the noise in a signal

(E) Not attempted

 Syntax errors :a.rl: also known as

eITors. s
A) Lagi P
(A) Logic _
(B) Semantic
(C) Parsing

(D) Noneof the above

(E) Not attempted

Which of the following types of
oscillator produces an output with
a sine wave form ?

(A) Non-Sinusoidal Oscillator

(B) Sawtooth Oscillator

(C) Harmonic Oscillator

(D) Pulse Oscillator

(E] Not attempted
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Which one of the following is 6. fFefaf@ad @ fopemn) s eify faftr @
measured by the loss of charge o S e 7 EE
method ? , - g&
(A} Low Resistance (A) =1

.-(B] High Resistance (B) I=H wferig
IC) Low Inductance : (C) +1
(D) High Inductance (D) F=a ACHE
(E) Not attempted (E) Amanitd
Which of the following chart shows 7. Ppefafes § & 'ﬂ'ﬁff-m aé e e
individual figures at a specific time g § =fRmE AiesT am 2 41 ger
or makes comparisons, but it places A1 2, Sifeh U8 TH9 HEE W FH B

- less emphasis on Hime fow 7 27 ;
(A) Line ' [B) - Pie (A) S B TS
(C) Bar (D) None of these (© = (D) ¥ & WS T
(E) Not atternpted _ ' (E)

. The transformer represent s - | 8. gaww R | wHR vefia e o
(A) Rotating dmriee' R ke i Tl B _
(B) Blectronic d () TRfer FTweT
E-"'-".I.ﬂE =
et (B) SeiweieE I

[C] Statm demce s aE L amp ©) PGP
(D) Norie of the above = - (D) sedw & | S T
(E) Not a.ttemptcd T a0 ; (E) Fwaf o
Two mag;nctu:: hnr:a._ nf‘fcin:l'déé | 9, 't‘:T o whi 'ﬁ:ﬂﬂ'ﬂ' i’@'l'{* e
(A) Intersect each other (A) T E:\c'!'t i Wfa=ag 'uFlI:'r 'if
(B) Do not intersect : 'm;uﬁaﬁwﬁmﬁ%
(C) Are crowded 1 M=
(D) "All of the-above SR - D) sEmwft
(E) Not attempted | (B) smanfea
State the octal equivalent of hexa | 10. 6T S TS (B3S), B HTH
decimal number (B35),,. T TR | :
(A) (6454), (B) (4564), ' _A4h) (6454), (B) [455%}', 2
(C) (5465), (D) None of the above (C) (5465), (D) Eﬂﬂiﬁl ﬁ"&iﬁﬁ L
(E) Not attempted (E) Twamfaa AR L
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11.

12l

13.

14.

15.

s 'I_F:Z] Not att_n:niﬁte_:d

; ..édmhm:a;tiunal' circuit.

What is positive feedback [n o7

amplifier circuit ?

Y Fecdback that i
input signal voltoge 0F €

(B) Feedback {hat decreascs the
inpul gignal yoltage 0 current

(C) Feedback that produces a7
d oscillation

undampe
that is 180 degrees out

(D) Feedback
of phase with the input

porenses ihe
urrenl

tﬁe following 4cﬁces carn
ol ating cuLT ent and
conduet current in both direction ?
() silicon-Controlled Rectifier (SCR)

(B) TRIAC
(C) DIAC. ™ @
(D) LASCR %‘%&

(E) Not attempted. -
In an electro -ma;gﬂe't'-;:_tjwheﬂ current is
switched off, the Iron-bar.
(A) Holds ;tS'magtlgﬁsqi .
(B) Gains voltage N
(C) Losses its magneﬁém
{D] Gains .ml.]-tu_:;‘

(E) Not attempted . .

Which of

Majuli Island is in'which river. ?

(A) Kaveri (B) -Ganga

(C) Bhagirathi - (D) Brahmaputra
(E) Not attempted R

are an example of a |

(A) Shift registers .
{B] Mlﬂﬁﬂlﬂﬂrs

(C) Counters

11, THeR .
byl s o,
{ﬁ]tﬁaﬂ:ﬁ'@lw By 1
sl Rk

il 3

c EW% Ry,

‘ o

HE B Eﬂﬂqﬁ:ﬁ% Y

[D]‘ﬁﬁiﬁﬁhw% 4 £
180 et ey ¥

; (E) Fmaftm ? o

12. mﬂ :

Q2
g@??ﬁ“m%‘“ﬁ“m
@ ﬁﬁ%@%m@
(B} TRIAC a }&{tﬁm&?ﬁ
A€) DIAC %
(D) LASCR
(E) Stwnfag

13, sl faem

et
Wﬁ.ﬁ@%ﬁﬁgm%m
[ﬁ]m%.m I

/I:‘C’] mw :

(E) 3TfEa
14. m@cﬁﬂqm e
(A) THTHT .ﬁ-ﬁs 2
(c) e /m]}"’“
(®) s b
15. W"&lﬁa‘{
ABl e BgE
(C) FRR éﬁ

0 THT-FAT
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16.

17.

18.

19,

For low resistance measurement,
which bridge is used ?

[=)#ea []
(A) Maxwell bridge %
(B) Kelvin bridge T
(C) Guarded Wheatstone bridge
(D) None of the above
(E) Not attempted
Which of the following chart is

used to show how values change
over time to compare data or shqw

trends? b
(A) Line (B) Pie
(C) XY Scatter (D) Column

(E) Mot attempted

When both the input signalalﬁ and B of
the NOR and NAIND gate are connected
together, the output of the resultant
circuit will be equivalent to

(A) OR (B) AND

(C} NOT... . (D) Noneof the above
(E} Not attrﬂnpted

Which scientist is hest known for

: mtrnducmg the Atomic t.h:ﬂry into |
" the chemistry ? : '

(A} John Dalton

{(B) Rutherford

(C) J.J. Thomson

(D) Wone of the above
(E) Not attempted

Rac:: ﬂ.rm;md condition can be avoided
in_Digital logic circuits using

{A] Master-slave JK Flip-flop '

(B) Shift Register |

(C) Full Adder

(D) AND Gate

(E) Not attempted

16.

17.

18,

19

20.

CG - EE24

Pt s 1 3 o, B i a1
fopat T R 7
() Aepader B
(B) e first

o) e wfie B

(D) 39w H A wr§ A

(E) e
fifuftsa 3 @ fra =1 1 379 7%
frar) % Re e wmar 2 5 221 F1 gen
w4 o1 59 fEn & fog 9w % 74
A7 &E wee ¢ 7

(A) wEA (8)

(C) TeETE ¥het (D) HieH

(E) STsfed

W9 NOR 301t NAND T2 % €t e fme
A 3t B TF w9 g3 T 8, @ qiomd
qﬁﬁzmwmﬁaﬂﬁmﬁﬂ ?

. {A) OR (B) AND
(C) NOT (D) 39dea | | Fs T
(E)

| e P A o gt @

o, =i AP wad AR 3 7

(4) wiTT BTee | E%E

(B) THIS
() 9. =, afrEa

(D) Ivdam # | i Tl
(E) atmnfaa

%ﬁmaﬁmaﬁnﬁ?&mﬁ%ﬁ
TereRT 39T =k == W HEOT & 7

(A) ATRT-TE JK TR-eig

(B) R thr -

(C) et T

(D) AND 712

(E) i
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21.

22.

23.

24,

26.

Open wiring is also known as
(A) Casing-capping wiring
(B) Conduit wiringl

(C) Concealed wiring

(D} Closed wiring

(E} Not attempted

An 8:1 MUX has _— select lines.
(A) 1 (B) 2
€ 3 (D) 4

1Bl
(E) Not attempted :

[=

Switch should always be connected
with

(A) Phase wire (B) Earth wire

(C) Neutral wire (D) None of the above
(E) Not attempted

What is the main purpose of usinga

chopper in an electrical circuit ?

(A) To convert AC to DC

(B) To convert DC to AC

(C) To cbtain a variable DC output
voltage from a fixed DC voltage
source

(D) To increase the frequency of AC
“supply
(E} Not attempted

The unit of magnetic flux density is
(A) Weber/m? (B) Lumens

(C) m* (D) Mone of the above
(E) Not attempted !

Which of the following is Fastest
Memory ?

(A) Cache Memory

(B) Auxiliary Memory

(C] Secondary Memory

(D) Virtual Memory

9% B il s dd o rne s ke L

21.

22,

25,

26.

CG - Erp,
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(B) A ) TR

(c) g wt amkn

(D) #%

(E)

gl MUXH ___ =afi e
el % |
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- (E) IwafEa
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R R 7

" (A) AC# DC & HgEH & forg

(B DC I AC 7 =ger + frg

(C) & Aftm DC dew d9d 4w =
DC HRegE Aieed W 1 & fiu

(D) AC I #t amafy "en &

(E) Frwafe
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27.

28.

29,

High Tension (HT) Linec means

(A) 230V (B) 440V

(C) Above 11 Kv (D) Below 11 Kv
(E} Not attempted

The Article of the Indian Constitution
provides for setting up of
Administrative Tribunnls

(A) 323 A (B) 362 A

(C) 329 A (D) 326 A

(E) Not attempted :

What iz the main goal of Zero Hours'

Maintenance (Overhaul) ?

(A) To maintain a certain service
level on equipment

(B} To correct defects found in
equipment

(C} To leave the equipment as if it
WErS rew

(D) To report the status ;;.z;d

. opcrational capaci :
s ations. R %ﬁ
(E} Mot attempted

‘iz a set of protocols that
allows you to access any document
based on the net through a naming

- . .systemn based on Uniform Resource

31.

Locator (URL's). )

(A) Transmission Control Protocel/
Internet Protacol [TCP/IF)

/{E:' Hyper Text Markup Language

(HTML) ..

(C) World Wide Web [WWW)

(D) Open Source Software (OSS)

(E) Not attempted ;= =

is an instrument which
measures the insulation resistance of
an electric circuit relative to earth and
one another. . i
(A) Tangent galvanometer
(B) Meggar ' :
(C} Current transformer
(D) None of the above
{E) Not attempted

27.

28,

29,

41.

CG - EE24
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33.

~: (C) Light =i
2 {E;] Not aﬁemp’ie‘d'

3s5. '

Which type of chopper inveolves
converting DC to AC and then back
to DC using tranaformera 7

(A) Step down chopper
(B) Step up chopper
(C) AC link chopper
(D) DC chopper

(E) Not attempted

What is the depth of the trench
required for direct laying of
underground ecables ?

(A} 1 meter (B) 1.5 meters
(C} 2 meters (D) 2.5 meters
(E) Not attempted

Concealed wiring is safe from
{A) Humidity {B) Heat -
(D) Electricity

The purpose of conducting open
circuit test in transformer is to
dctcnnme 1

(A) Eddy current Inss

i {B) Coreleoss: - -. '-'-' :
(C) Hysteresis loss =
(D) - Copper loss R
(E] Not attcmpted L

36.

: Largf.'.st wh:at pmducmg Statein
Ind.l,a. is .

[P.} Maﬂhya Pradash
B) ‘Andhra Pradesh
(C) Uttar Pradesh
(D) AsBait <%y | imsd o e
(E}) Not attempted . . ,...;

a2.

33.

34,

35.
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aftafde e S & 7

(A) R TTFH T @

(B) R 31w %‘%
(©) Ac férm =TT

(D) DC =

(£) FwnfEa

e WA fren & fag sy
T 61 wgud fAeft & 7
4 1¥ @ (B) L.5HA
(©) 2 e (D) 2.5 Hix
(E) Frfe

qHRE R |
- (B) T
. (D) Terreh

(A)

(&) vt Wi B

- (B) W@ T

36.

(©) fefaha. ik
(D). i 1w
(E) Fwaifdd

wﬁa@mﬁmw%
() wewem
(B) IS
(C) Iwam
(D) 3/
(E) waifee,
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37.

38.

“Which law states that the illumination

atany pointon asurfaceis proportional
to the cosine of the angle between the
normal at that point and the direction
of luminous flux ?

(A) Inverse Square Law

(B) Lambert's Cosine Law

(C) Law of Conservation of Energy

(D) Stefan-Boltzmann Law

' (E) Not attempted

The Articles envisages states

. to provide free and compulsory

education
(A) 45
(B) 21 A

... (C) Both 45 and 21 A

39.

(D) None of the above
(E) Not attempted

In indirect resistance heating, how

is the heat produced delivered to the

charge ? ’ ¥

(A) By direct contact of the heating
element with the charge

- (B) Through a combination of

(A) Adventitious roots

radiation and convection

“(C) By the flow of hot and cold air

currents g
(D) By passing electric current

directly through the charge
(E) Not attempted :

Roots arise from parts of the plant
other than the radicle are called
(B). Nodular roots

ﬂ% EE.
(C) Tap roots b

(D} Fibrous roots T,
(E) Not attempted -

a7.

as.

39.

40.

(A) 45

CG - EE24
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m}wﬁ-ﬂmﬁ%‘ﬁﬂ

(E) FwFrEd

ﬁ;aa:gﬁzﬂtﬁﬁiamgwﬂafﬂ:ﬂﬁmﬁ
e om0 o6 A B @ 7
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(©) Bt a5 3 21T
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s Sy e &, ST SO A
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(B) fafor 3R dag ¥ wdier % WoET A

(©) T 3it A Ty gwell ¥ e |

(D) 3w % T ¥ W faga g
wEIfa Fh

(E) swaifEa -
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¥ Prevem Tl 9§ __ et € |

() FTERAE g

-, (B) Y w13
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41. A two-way switch is used for

(A) Control one bulb from 2 points
(B) Control two bulbs from 2 points .

(C) : Control multiple bulbs from 2
points :

(D) Control one bulb from one point |

(E) Not atte_:_nptt:!i

42, : software can be freely

used but it does not have to be free of
charge.

. (A). Open source
(B)-Free Software Faundatiun (FSF]

[C} Freewan: m%‘l‘q
o

(D) Frm:_ _ﬁﬂftwarc
(E) Nui':a'ttémpted

43. The hattl.'.l'j" used in elcctnr: vehlr:les :
and Aeruspar:e appln:auuns is
(A) Lead acid cell battery
: B)- thh1u1'n~lan battery .
{C] IJPS batterj.r s iy

[D] Charger batthr

[E] ‘Nnt ai:tempted L ;
£ 3 J B R
44 D:stnbutiﬂn I:mard is used for dimmng

i anelect.ncal ‘power fced into
[ﬁ] 2paths Bt el ,|
(B) Subsidiary nir;:'nﬁgs i '
(C) Transformer = '~

. =D} -Switch : oA pn |
~(E) Not attcmpted Vg .

45. The famous Parthennn or t.he temnple '
of 'U’ug;m was built of’ culuured marble’

stones in e 1 !
(A) Athens (B) Mcaupntemm |
(C) Rome {DJ ng_.rpt ' i

|

‘41,

42,

45.

QT ferm I % fey

R :
(n) R wem 1 2 Figai @ P 5
(B) % =l i 2 fégail & Prifra i

(©) %ﬁgﬁﬂmﬁmaﬁftﬁrﬁ'&&a

(D) T e ) T Fig A P
®)

IR F1 =0d B9 3§
Wmmm%ﬁ%ﬂﬁm
qﬁf%ﬁsﬁﬁgﬁﬁu
(A) HITA HiE.
{B}ﬁﬁmﬂ?{‘qﬂﬁi’m {Eﬂﬁqﬂwﬁ)
(C)

(D) S "I B T)
(B) v O
sﬁﬁaasarsﬁaﬂtmﬁﬁamamﬁﬂ
I i IH A 3 %l
(a) o8 uftre dw del
. (B) foftmm-smi 3ed
R iR i
{D]“q'laftﬁaﬁ
ﬁatma’téﬂﬂaqahﬁgamﬁi =l
% . Wi w1 % fow e
ﬂ'ﬁﬂ' l =
() 29 _*35”5“*' %
‘[E}'Hﬁlﬂﬂiﬂﬁﬁ! N
b : s
12240 (D) fﬁﬂ T asirewiaoy
- (E). m 431 g0 L] Hiet A
mmam@mmm
S w1 wfex wal = w7
(a) v < (B) HE
B
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46: What kind of testing involves

47.

48,

oF

49, =
%7 “it attacks'the critical information -
% infrastructure of the nauan =

-

..(B) ‘iﬁrus attack e
I[C] Cyhermm¢ - el g i

measuring the insulation resistance

across earth and the whole system uf;

conductora ? LT |

{A) Electrical Wiring Cunﬁnu.lt}'
Testing

(B) Electrical Insulation Resistance
Testing

(C) Electrical Earth Continuity Path
Testing

(D) Electrical Performance Testing

(E) Neot! attempted

Which type uf wcld.mg process involves
melting of the parent metal ?

(A) Fusion Welding
{B}) Non-fusion Welding -

g -{C’_I Resistance Weldmg s

{D] Spﬂt We‘ldlng 24
[E] Not attemptcd oL

Acetylation of s.almyhc acid pflpdum:u -
[ﬁ] Phoagcn: v TR .
) e 70
(C) Aspirin | . -
() Salicyl anhydside 1< '
{Eg Not attcmptcd -

,'- 3]

is new forms éi' warfare;

(A) Spoofing

(D) Cyberterrorism
(E) Not attempted ™

46,

47.

48.

49,

CG - EE24

form wan & wlao § et s i
<t gl wumreft 1 gegeeA wfedia # A
miE R 7

() forga amil 1 Feran @ wliaa

(B) forea gy wftrdy wligm
(c) forga gt Friean wa wham
(D) ferega wea whigw

(E) arsnfe

ﬁ:‘am@ﬁnmiﬁ@q@ﬁ
e mite & 7

(&) v AfesT -

(B) - afcen

{C}rﬁﬂﬂz‘rl'-"zn

Al 3 w1 ufafeeimo
- (A) B P

(8) FLfH Sl

() i . s FELE
(o) Afrde e

® sk

gza;lqmm% ﬂ'ﬁ%’ﬂ
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BO.

51.

. —(B) CNC'CbﬁE‘bllﬂ"' i

53.

P.,.,.._, e

For electric traction, the motor
used is

{A) DC shunt motor

(B} DC series motor

(C) DC compound motor -

(D) AC motor

(E} Not attnmpted ;
In a step down chopper, what .
component provides a path for the |
load current when the switch is

not ON 7
(A) Inductor |

(B) Resistor

(C) Capacitor g gy
(D) Freewheeling.Diode [D?]
(E) Not attempted .. .. .

Which type of PLC-like device.is i
commonly used in hght 1:11:1'!.151.1')-r i

and offers a lower cost alternative
to traditional PLCs ?.: E%iE
(A) HMI Controller . %
(C) DCS Controller: ™ Z
(D) PLR [Prog:rammable Log;c Relay}
{E) Not attempted

] T U

Find the analogy. =7
Warm : Cold -i: ;
(A) Good
{C) Gracious

(D] Cruel -

. (E} Nnt attcmpted

~:.i8 anftwm*e cade that 13 |
designed to search for mfurmat:uu on.
thé-world wide web. I

(A)’Wéb search enginé

J

(B) Uniform Resource Locator (URL) |

(C) Domain Name'System (DNS)
(D) Web browsersii: a7 (i)

50.

51.

52.

53.

541':

ﬁ@;ﬁ%ﬁqﬁﬂﬁmfﬁm

(A) DC ¥ie M

(B) DC Wt Hit

(C) DC HIEs

(D) ACHIX

(E)

w9z 9 A, 59 e ON T g 2
ﬂﬁq—mmﬁ}zwﬁamwm
(B) wfeius

A8 7 L0
o
(C) daTfe

(A) T2
(D) Wreifem s (D)

(E) ImafE.
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A: geh Sam 3 R 9 ? e u
trrrqf’taaPLcaﬁrgamﬁmmm
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(a) HMI R

i3] “GNC PR
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() pcsfm=s
D) Pm(ﬁmﬁaaaﬁa;fc%}
(E) 3rrnfEE

Hﬂmmaﬁﬂﬁ:l
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(A) Fr=a1
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(A) ¥4 wE
{BJWWW(W}
[C}ﬁﬂ'—lﬂwﬁmn{MJ '
{D]éamm :
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g5. Which of the following is not a

requirement for good lighting ?
(A) Sufficiency .

_(B), Absence of glare

(C) High contrast colored light
(D) Steadiness

~ [E) Not attempted

56..

‘Which method of heat transfpr does

not require a medium for propagation

i and occursdn a stra_.tght line? -

57.

T (E) Mot a.ttﬂmpted

8.,

" (C) Radiation

{A) Conduction (B) Convettion
___[D} Induction

(E) Not attempted

= = >  printers are ideal for
prmtmg multiple copies.

(A) Impact
(C) Thermal

(B} Nun—:mpact
[D} Laser

What role does the power converter

“play in an electric dnw: systcm T

(A) It converts electrical energy toa .
suitable form and controls power

flow to the motor

“(B) 'It controls the ‘motor directly

) w'lﬂmut feedback

" (Q) 1t only converts AC to DC

59.

(D) It measures the sp:cd of the

motor [=% =]
(E) N-:lt attempt:d e R
Who among the fulluvnng

personalities is considered as ‘the
founder of Kunjpura pnnmpa]jty in
Haryana ?

(A) Mith Singh (B} Sahlb Singh
(C) Gurdit Singh (D) Nl]aha.t Khan
(E) Not attempted

55,

56.

57.

58,

CG - EE24

s Aerht 3 fory, Frefaftra 4 4
Bt s T & 7

(A) Wl

(B) =FERTEIY T IATE

(C) = iz T T

(D) featan EIZE

(&) st =

Zo T 6 fea faft 8 de
% foau wrom R sazawma TE g 2
s dR T d a2 7

(A) HETEH (B) HaE

(c) fafwwr (D) BT

(E) srwafém

firey 4 sl =1 file 701 %
fowEmm e E 1l

(C) =ie (D) Tt

(E) mﬁa :

ﬁgwmﬁﬁﬁwmﬂw

m%%ﬂ -

A} TE g T

[ ufafia = R s orex § et &
vame i i = g

| (B) 7 f e % H e )

Frifr =t 2

""-[»:} I8 FHad aca?r Dcifqhaﬁ?r

59.

Ul

D) aﬁﬁatﬁlnﬁraﬁm%

(£) st

ﬁmﬁl‘ﬁaaﬁﬁ%amfﬁﬁﬂ%mﬁ:
Forga SR T RS AT S # 2
(a) fa fir (8) wfew fére

€ Tafe (D) P wm

(E) 3r=fem


Guest
Rectangle


i i fusinga |

60. What is the main purpose o _
level in clectrical inml‘,fﬂlﬂuqu s |
(A} Mecasuring voltage = - -, | ;r

(B) Ensuring installations are |
straight and level

(C} Detecting voltage presence
(D) Routing new wiring
(E) Not qlt;mpt_eq‘_

A parallel combination of two resistors
of 1 Q each, is connected in series vlnth :
a 1.5 Q resistor, The total combination |

iS connected across a batteryof 10V, '
The current flowing in the circuit is "

A s5aM (B) 204
(© 034 D054 _,
~(E)'N ﬂ't'attemptcd

61,

U

the Bureay of Energy
responsible for 7

Whatis
(BEE)

62,

' [M"‘Spearhead.ing the_-imprnvement:ofi
energy c[ﬁcien;y of the economy |
in'

In

[Ej Increasing energy consumption
| e

(© Develaplgg new energy resources !

P i S -

(D) Distributing electricity to
.Consumers _ o

(E) Not attempted .

dakia __.1.;" e -- F |

.5 r

S3. Find the analogy, . - ;

Gills : Fish e :Human, .
L TBaE 8 R gy
II‘EJ Hmd&"’ KT i =
"(C) Nostrils R
(D) ngs £ i

57 ¥ et o
L3,

s

Efficiency |!

CG"Eﬁqq

ﬂﬁf@ﬁf'ﬁ'aﬂﬁiﬁlt{m

oo ?fmwaf- Ty
‘ﬁ}ﬁiﬁiﬂ‘m

fﬂlﬁmmﬁ"wgy

(©) Feet IR 1 ey ey

2 % MR w By

&

i

JHERH,GF 1.5 Q Tl &
V) g

AR R W ) 4
H | wityg 3

& e

)
<G Tt et . Ry F
(). 30 ) ot R s

ﬁi‘l:"ﬁ%‘f’f::. e,
R I e S

wiAB) R |

LB Tl B

(C) Tty

(E) Not attempted ™. i

R
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64‘

65.

which type of timer retains its
accumulated time even if the
enabling input goes false ?

(A) Delay-OFF He

(B) Delay-ON

(C) ‘Delay-ON-Retentive

(D) Delay-ON-OFF

(E) Not attempted

which type qf power converter is

used to get variable voltage /variable
frequency from a DC supply ?
(A) AC to DC converter

= '(B) DC to DC converter

66.

(A) Resistor -

(C) Inverter DfA0!
(D) Cycloconverter
(E) Not attempted

Which of the following is not an

example of a passive element ?
- (B) Inducter

(C) Capacitor (D) Voltage Source '
(E) Not attempted . -

- .What is the definition of Spacing

Height Ratio‘in lighting ?
(A) The ratio of luminous flux to
power consumed
(B) The ratio of the distance between
" adjacent luminaires'to their |
height above the working plane

+ (C)’ The ratio of the illuminance to

the distance from the source
(D} The ratio of luminous intensity to
the area of the surface
(E) Not attempted
is the main geographical
feature of Haryana in southermn part
of the state. -
(A) Shivalik hills
(B) Ghaggar plane
(C) Semi desert
(D) Aravali hills .

64,

65.

B7.

CG - EE24

el BT 1 2T e T 1o 71
) s7qr HRr T A f

(A) Delay-OFF

(B) Delay-ON-

(C) Delay-0O N-Retentive

(D} Delay-ON-OFF

(&) rnftd

pc 3 @ v drees /uferd
amgfa W A 9 ferg for YRR F ar
e I R S 2 7

(A) AC & DC Ha&

(B) DC @ DC Fa&

(C) FaH

D]

ST
(B) m;@ﬁqﬁ%aﬁﬂaﬁwmﬁﬁﬁ
o B S S & T &

(C) e & gt T T W I

(D) GaE % & & forg =weper st 1

AT

(E) Tt
s 3 efof o 3 v

T Wiifers fdar 2 1
() frfers waReat o
(B} 7R T FHa =
() 3 aw
(D) IR gariEat
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69, Why is it crucial for & power station to,
regulate electrical energy gencration

70.

71.

according to demand ?

(A} Because electrical energy can be
stored for future use

(B} To prevent overloading the power
station

(C) Because all electrical energy
generated must be consumed
immediately ¥, 4

(D) To maintain a constant voltag
supply ,

(E) Not attempted |

The ______ function repeats text a,

given number of times.
~ (B) RIGHT

(A) REPEAT -
(C) MID (D) REPT ;@%
(E) Not attempted _ s

What is one of the main environmental
benefits of using Solar Energy
Technologies (SETs) ? _

(A) Increased greenhouse gas

emissions s
(B) Reduced CO, emissions and -

prevention of toxic gas emissions |

(C)-Depletion of naturai resources
(D} Increased air poliition

.- (E) Not attempted - - -,

72,

Arrange the words given below in a
‘meaningful sequence. '
1. Police ™' ¥ T4
2. Punishment
3. Crime

|

.1 4adudge: ;o

5. Judgement: -, .. |
(4).321,2,4,5. . . |

(B 172, 4, 3,5

(C) 5,4,3,2, 1 .
(D} 3, 1,4, 5:2jp Her 1,

69, felt wrat R & F0 AW F s,

g 2 7

% fera ddla R = wepan 2
(B) UTE R T SEATET Fh T
% ferg 2
(C) i 3w g Al Wl fregg o
mgﬁmﬁmmaﬁqﬁ
(D) et dieest 3 I Ta 3 fory
(E} SFsaEd
. HEA e g

| JEmd

(B) RIGHT

{A) REPEAT
MID (D) REPT

(C) MID'
(E)

AT A FeTESR () 1 3

| w3 e v o @ v
e 7

(A) HEreE e I 4 qhe

 (B) CO, i  Fft 3 wEdiett g

Joeei I Uy
(C) wrHfes FETEA T
(D) I
s

. A R s e

ri
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73,

T4,

- (E)-Not attempted

75.

‘Which programming standard do most
modern PLC systems adhere to ?

(A) IEEE 802.11 «(B) ISO 9001

o) 1Ec-'51;31f3 (D) ANSI C++ .
. [E), Not attempted

rel ST - d
nx=——~—~,ta.n - Y

If si 1+ . y "a t"mmdx
“‘Equalm. v mmE |
(LR B)O R |
) -1 myz B ;
|

Which type of solar collector is .
commeonly used for residential '
water heating and can achieve
temperatures less than 180°F ?

(A) Evacuated-tube collectors
[EI] Flatuplate collectors

* 17 (€)' Parabolic trough collectors

(D) Central receiver systems-.
(E) Not attempt!:ci : |

ikl LH |

76. Which tunl is spemﬁcall}r designed for | |

T7.

& [A) Multimeter

wire cutting and can trim wires in

ught ‘spaces ?

I_E}"'Fish-*_l'apl: -

(C) Plier (D) Flashlight '

{E}*:N?t' attempted - " . |
T T T 1 SEES :

What is one methed for improving the;

power factor in a facility ? | ‘

(A) Tnstalling capacitors _ |

(B) Incrﬁasmg the rem:uve power

i “demand g

(C) Adding more mdl.ii:ﬁu'u loads
(D) Reducing the voltagé supply

73,

74.

T5.

76.

CG - EE24

st snafis e faren
Pt wre i 9red w6 7

(A) IEEE 802.11 (B) 1SO 9001
(C) IEC 61131/3 (D) ANSI C++
(E) st

a2 ﬂiﬂx:lft”mn‘?ulm;."?h :d_ix!-
0§

(A) 1 (B) O

(C) -1 (D) 2

(E) JrgamE .

o woBR % W HTE I 3T AT
T aardt s o & forg R S

2 3 9% 180°F § ¥ AYHI Al
THA & ? B

(a) Prerr -2 F0ER

(B) Fe-<ie HUTEH

() mﬁmﬁm

D) Tiger frefta e

(E) e

'aﬂ#-mmwﬁﬁwmﬂmm

% foru Fesres o T & AR T wE
i i ﬂﬁqﬁm% i o
[A:-rreatﬂzt @ w3

(C) T iDl_

E) ' :

ﬁ@ﬁgﬁmﬁwﬁrﬂﬁ@n%m
mﬁﬁw% b

o [B; P freh A At

(C) iftres SAFTHATCH® WK AT
(D) e, YR 1 HA FE
| R T . Tl
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78.

79.

; {E) Not attl:mptcd . _

81.

82.°

What is the characteristic of an

independent ideal voltage source ?

(A) It has infinite internal resistance

(B} It produces a variable voltage
across its terminals

(C) It produces a constant voltage
across its terminals irrespective
of the current

(D) It does not exist practically due tn
zero internal resistance

(E) Not attempted

Separators in batteryisa____
material. 0l-10)

(A) Conductive :

(B) Non-conductive ‘

(C) Partly conductive

@] Heavy conductive ~ = —
{E] ?Nnt attempted.

In Haryana Tﬂj-!?."'-ll‘a.i'a Barrage is built
on which rwer >
(A) Saraswati

(C) K:rishnswati

[E] ?La.muna

[D] Chautan g

The diret:tmn of mduccd cmf in
generator i is found by

(A) Flemmg’s Left- hand rulr.
(B) Fleming’s Right-hand rule
(C) Faraday’s law -~ - Hariize
(D) Kirchhoff 's lJaw -

(E) Not attempted

What is the Unit of illumination ?

(A) Candela _ (B) Lux -
(C) Lumen (D) Watt *

(E) Not attempted =

78.

79,

BO.

B1.

CG“‘EEzq
O T S Aees T B figy,

e 7
{mmmﬁ’-ﬁmﬂmg

(B) F& 3T T Yfteretfry
dieest e HUAT B

(C) & Fiz F WA Fre R gy
Eﬁﬁ?ﬁﬂtwﬁ-‘ﬂ‘ﬂ"lﬁrm
AT

{D]wﬁmﬂﬁlﬁﬂ%mm
g &9 8 e 78 3

() AR

St A faweh e w3
(A) HaTER

[B];ﬂ'f-miﬁﬂ

(C) FifiF ®9H Fargehi

(D) Wift waEhE

(E) aRm
e T ke 3 e A o
(&) BT C(B) I

(©) FwmEd (D) ¥z
CE e
- wtet 3 s ) e A
wiftd

(A) AR 140 71 e
{B}q@tﬁnwaﬁmrﬂﬁm
o) $mE .

82.

(D) =T 1 ﬁqu ' :- :--."-_;

Wﬁ&ﬁaﬁﬁm}zﬁﬁr{m% ?
(4) a (B) v
(C) A ' (D) WR
(B agmiis .
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83.

85.

(D) Exactly 5 km
i {E} Nut at'tcmptcd

Which type of renewable energy
involves the harnessing of heat from
within the Earth ?

(A) Solar Energy

(B) Wind Energy

(C) Biomass Encrgy
(D) Gmthe?mal Energy
(E) Not attempted

To add a n:_ulum:i or a row number,
the library function used is

(A) AVERAGE  (B) SUM

(C) COUNT  ©.(D) MAX

(E) Not attempted =

What is the primary cha.ractmahc
of main line services in terms of the
distance between stops ?

(A) Less than 1 km
i

(B) Between 1 and 8 km
(C) More than 10 km

. : Whjr.'h 'law states that the LIIumlrmnm:

at any pumt on a plane perpendicular
to the line joining the point and source
is inversely proportional to the square
of the distance b:twefm l:.hc source
and the plane ?

(A) Ohm’s Law

" (B) Lambert’s Cosine Law -

- (C) Inverse Square Law

BT.

(D) Joule's Law
(E)] Not attemptcd

Asia’s largest ¢ioﬂ1 mark:et is situated

in __—-:::f Ha.ryana.
(A) Ambala B) Panichkula
[C) Rohtak (D) Mohali

IFY MNMAat attermstad - 0 =

83.

B4,

85,

86.

CG - EE24
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(D) et St
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(A) AVERAGE
(C) COUNT
(E) - Frsnfed

Erﬁaaﬁaﬂzg%mﬁﬁgﬁﬂﬂm
i 4 wrafis fdea w0 ® 7

(&) 1 awm

B) 13 8 el ¥ e

() 10 feft & =fires

(n) fega s

(B) SUM
(D) MAX

- (E) amvanfaa
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B7.

(A) o & FEw
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[c:]qawaﬁﬁm

o) 5@ & P

({E) sriftE. :
-qﬁmmmmmwm#
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89,

90.

21,

- electrical energy?
" (A)-Rotor * - :

Which type of instrument requires no
calibration or comparison with other
instruments and gives the value of
an electrical quantity in terms of
absolute quantities ?

(A) Secondary instruments

(B} Electronic instruments

(C) Graphical instruments

(D) Absclute instruments

(E) Not attempted

If the network contains at least one
,itis an electric circuit.

(A) Open path

(B) Closed path

(C) Resistor . :

(D) None of the above

(E) Not attempted

Which component of a wind turbine
is responsible for converting the
kinetic energy 'of thr: wind into

(B) Transmission
(C} Tower " . (D) Generator
(E) Not attempted A

The hndg:: used fur the measurement
of self-inductance nf the circuit
which works on the’ pnnn:np]e of the
comparison is known as

(A) Maxwell's Bridge ..
(B) Anderson Bridge

(C) Schering Bridge

(D) None of the above

IEI Mok =t o e d

89,

50,

 (E) st _
91, Hﬁﬁ%ﬁ—ﬁw%m%fmm

CG - EEQ.*

ﬁmm#maﬁmw%
mﬂwmwﬁmm

i @t R S e o oy

st o gef F e ? 7 |

(A) Hefirh IR

(B) TS IIHTI

(C) mithere ITH

(D) 9t ITHT gg;%

(E) arsaifé

q&%ﬂﬁwémﬁﬁ_ﬁ_@_
@ 7 @ faga g R

(&) g 99
.(B) Wg 9y

(c) wfathu= _
(D) I A | Fi§ 7

[E) IR

-ﬁ#maﬂﬁq-mmmﬁnﬁﬁ

mﬁ%@mﬁmm%m
P 2 7
(A) TR
() TR

®) gt
(D) 3FRex

ﬁmaﬁwﬁam‘rm%fﬁaﬁam
FTH F R, FEATIR

(A) Ao firsr

(B) =t Ty

(C) 3T firw
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92.

93.

Binary operation * on R - {-1} defined

o 1 }
ib=
gy & b+1

(A) * is associative and commutative
(B) =is associative but not commutative
(C) *is neither associative nor

is

commutative
(D) * is commutative but not
associative C [@%EE

(E) Not attempted &

Which of the following forces is
necessary to return the pointer of

- an electromechanical indicating

" .instrument to’its zero positior

94,

95.

when no input signal is present ?
(A) Controlling force

(B) Deflecting force.

{C) Damping force

(D) Inertial force

[E] Nﬂt attcmptﬂd

Which one of the following is us:d as
ENergy cunverturm optical materials ?

{A) Dptu: Fibre Cable
(B) LED :
(C) LASER

(D) Solar Panel

(E) Not att.empted

‘What is th: pnma.tjr use nf a

multimeter ? L

(A) Measuring wire lengths

(B) Stripping wire insulation

(C) Checking wltages cun'ent and
resistance

Frss ™= 4

IR ¥ PR UR TRy, ¥ NORSELy Ao 1 pep L, R o

92.

93.

95.

CG - EE24

a*h:ﬁimqﬁqua R~ (1) T
fanuarh wfFa » 8

(A) »aEanh 3 e @

(B) ~ FEa g w2
(C) » = W wEdhl & 7 D woad 2
(D) « wwah) R oty w2
(E) sraanfes

o= s FAge e g Wl B, @
Hehae ITHW T TIR Tl

= fRufer ot arvw @ % fom Freferfea

i & H-T1 91 AGEF B 7

(a) frdaw ww

(B) Tadus @el

(C) JEHeA at

(D) SIEwG =

(E) Frwafem
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amﬁﬁﬁqu&aﬂﬁ%mﬁﬁﬁm
wae 7
(maqﬁmm%ﬁa

(B) UmsEl

(C) T&

(D) ER ==

(E) 3roanfEa |
[A}ﬂﬁﬁmﬁm _

(B) fRfin A gy ©

(C) Hred, iz 3l wRY H s FE
(D) Tiees Il =51 g8 =
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96. What is the primary source of energy | 96. W H Fll 1 Mg i wy,

in biomass ? (A) Tramafs wffmam
(A) Chemical reactions (B) T
o (C) *gadia
(C) Geothermal heat .
(D) Fossil fuels - (D) S $em
(E) Not attempted | - (E) sl
97. India's first modernised ﬁnganwmh 97, MRd I Ggel CHIEEEE
Center was launched in this place of % fom R W i m ™ Eh’mﬂ
Haryana
(A) Hasanpur (B} Fatehabad W . (B)
(C) Rai (D} Jagadhari | (C) 1™ (D) st
(E) Not attempted Sty Co [EJ. '

98. The rate of change of voliime of a | 98. .Tﬁﬁﬂﬂ 4@1’[? ?ﬁ%’i‘@l# R
*+* sphere with respect to its surface i ftad o TE Q‘ﬂq;a ¥ i &

area when the radius is 4 cmis
(4) 2 cm®/cm? () 2 cm?/em?

(B) 4 em?/em? foi (B) 4 cm?/cm? A
(C) 6 em?/em? L =4 (C) 6 em?/c¢m?
(D) 8 em¥*fem* (D) 8 cm®/cm?’
(E) Not attempted ' (E) i

99. Which of the following effects is 99. Prfufis ¥ & wH-a1 T Tt
primarily utilized in the construction | : ITFW & T yrufirs
_qfcpmmm:cialcl:ctﬁcalirll;t_mments?' i Emmw ' R
(A) Chemical effect - : (A) TERRE INE EI"" =
(B] Heating effect . (B) A9 ¥WIT Er%
(C) Magnetic effect & 0 ; (€) Wm
(D) Electrostatic effect = - : (D) ﬁqﬁ% FI‘TH
(E) Not attempted . . (E) 3rsrnft

100. What does a non- cuntact vnltage .1 100, TH Ty Eﬁéq ﬁgm e

detector primarily check for 2. - Tt wife e 27 E@
(A)-Wire Icngths - (&) T T
(B) Cirrent presence ' (B) iz F9fRafy
(C) Veltage presinee | (© e
(D) Wire insulation - - - i [D] mmﬂ

Y WAt & ttars ebed = . |
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